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P3-15: ['LfN', 'NdN', "TsN', 'tgtLfN', ‘prunLfN']
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P3-15: ['LfN', 'LfNT", "TsN', "TSNT']
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P3-15: ['LfA", 'peakTgtLAl']
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P3-15 (plot by DAT)
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Days After Budding
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P3-15 TsN1 (plot by DAT)
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P3-15 TsN2 (plot by DAT)
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Days After Budding

P3-15 TsN3 (plot by DAT)
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P3-15 TsN4 (plot by DAT)
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P3-15 TsN5 (plot by DAT)
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Days After Budding

P3-15 TsN6 (plot by DAT)
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P3-15 (plot by adjDAT)

T e
L
-II* L
L S
o 9 ®
TR
e .
l® _.* I
m r“..a . i, *
BB R  #
[ 1
- P PR
Fll“ ||.* f-‘f -. ml f“
A T P A
| Ty
LTI e )
‘-9 -® 1 L9 _IO “
R i AT I
! 1 1 “|0 “||+
-.. L -.I‘
ty 1, 1Y, Ty T
1
| | _I. 1 |
— “—-Q |
4* " _.ﬂ _Iluﬂ
] leg I_g !'‘———-®
1,7
r* | rl.i
..4 _Iﬂ m_lllll..
1 D1
R
e £
Vi
1 “m
1 ]
1 I
Loy <
|-----o
“
I 2
I 5
1 ©
e e @
T 5 ¢ & & & ¢

80

Buippng a1y sAeqg

100

80

60
Days After Transplant

40

20



Days After Budding
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P3-15 TsN1 (plot by adjDAT)
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P3-15 TsN2 (plot by adjDAT)
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Days After Budding

P3-15 TsN3 (plot by adjDAT)
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P3-15 TsN4 (plot by adjDAT)
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P3-15 TsN5 (plot by adjDAT)
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Days After Budding

P3-15 TsN6 (plot by adjDAT)
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Plot [['sfTemp’, 'sfInit’, 'sfDev’, 'sfDem']]

1.0 1 —
| \/\_
0.8 ~
i 1
0.6 1
1
0.4 l
. : — sflemp
1 —  sflnit
0.2 A : —— sfDev
: —— sfDem
0.0 A . 1
25 50 75 100 125 150 175




Plot ['sfDemLfA']
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Plot ['sfDemFrV']

1.04 -

1.02

1.00 -

0.98 A

0.96 A

—  sfDemFrV

25

50

75

100

125

150

175




64
64.00
64.01
64.02
64.03
64.04
64.05
64.06
64.07
64.08
64.09
64.10
64.11
64.12
64.13
64.14
64.15
64.16
64.17 -
64.18
64.19
64.20
64.21 -
64.22 -
64.23 -

- 20

--20




25 A

20 A

15 A

10 A

- T
—  Tdew
— To

o 4
(9]

25 A

20 A

15 A

10 A

o 4
(0]

1400
1200 A
1000 A
800 -
600 -
400 A
200 A

o 4
u

2.5 1

2.0 A

1.5 A

1.0

0.5

0.0 A

—— optVPD
—0— |eafVPD
airVPD

o 4
(9]

90 A

80 A

70 A

60 -

50 A

40 A

30 A

o 4
(9]

o -
(O]

Plot EnvOpt Decision

50 -
45 -
40 -
35 -
30 -
25 -
20 -

15 4

5 10 15 20

hr

60 -

40 A

20 A

-20 A

o_

5 10 15 20

hr

75 A

50 A

25 A

-25 A

-50 A

-75 A

o_

hr

25 A

20 A

15 A

10 -

¢l

T

PATG_T1
PATG_T2

hr

27.5 1
25.0
22.5
20.0 A
17.5 ~
15.0 ~
12.5 ~

10.0 ~

¢l

T

PATS T1
PATS T2

5 10 15 20

hr

30 A

25 A

20 A

15 4

10 -

5 10 15 20

hr

800 N \/
700
—— PATG C1
600 - —— PATG_C2
-0— C
500 A
400
8 10 12 14 16 18
hr
700 T /\/
650 A —
600
550 4 —— PATS_C1
—— PATS_C2
500 A —-0— C
450
400 A
8 10 12 14 16 18
hr
800 A
700 A
— PAVT_C1
600 - —— PAVT C2
—— C
500 A
400 A
6 8 10 12 14 16 18
hr
1400 A = x
1200 A
1000 A
800 A
600 A
400 1 —— PATG P1
—— PATG_P2
200 A -o— P
6 8 10 12 14 16 18
hr
1400 A
1200 A
1000 A
800 A
600 A
400 - —— PATS_P1
—— PATS_P2
200 A -— P
8 10 12 14 16 18
hr
1400 A
1200 A
1000 A
800 A
600
400 A
200 ——
8 10 12 14 16 18

hr




o
h

o
<
1

| - .

o
o
1

o
<

ik

036925 _I_ w

O O N
m M <

Y

45 -
48 -
51



